
AP CALCULUS
SIGMA NOTATION
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3.
3∑

i=1

(i + 2) = (1 + 2) + (2 + 2) + (3 + 2)

4.
5∑

i=1

(2i + 1) = [2(1) + 1] + [2(2) + 1] + [2(3) + 1] + [2(4) + 1] + [2(5) + 1]
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6.
2∑

k=−2

3k = 3(−2) + 3(−1) + 3(0) + 3(1) + 3(2)

7.
4∑

k=1

cos kπ = cos 1π + cos 2π + cos 3π + cos 4π

8.
4∑

i=1

(−1)i = (−1)1 + (−1)2 + (−1)3 + (−1)4

9.
4∑

i=1

(−1)i+1 = (−1)1+1 + (−1)2+1 + (−1)3+1 + (−1)4+1

10.
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i=1

i
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k=1

k =
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2

15.
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k=1

2k = 2
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k = 2
7(8)
2

= 56

16.
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i=1

(i2 + 5) =
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i2 +
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5 =
6(7)(13)

6
+ (6)(5) = 121
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17.
5∑

i=1

i(i− 5) =
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=
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i

=
5(6)(11)

6
− 5

5(6)
2

= −20

18.
7∑

i=1

(2i− 8) = 2
7∑

i=1

i−
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8

= 2
7(8)
2

− 8(7)

= 0

19.
100∑

i=1

(2− 5i) =
100∑

i=1

2− 5
100∑

i=1

i

= 200− 5
100(101)

2

= −25050

20.
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i=1

2i = 2
n∑
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= 2
n(n + 1)
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= n2 + n
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6
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2
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=
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(i2 + 3i + 2)

=
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i2 + 3
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i +
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2

=
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6
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n(n + 1)
2
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=
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23.
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(i3 − i− 2) =
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i=1

i3 −
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i=1

i−
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2

=
n2(n + 1)2

4
− n(n + 1)

2
− 2n

=
n4 + 2n3 − n2 − 10n

4

3


